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Study the example showing how to write a fraction as
a decimal. Then solve problems 1--8.

Example

Models can help you write fractions with denominators
of 10 or 100 as decimals.

Each section is one tenth
of the whole, or 0.1.

Each square is one hundredth
of the whole, or 0.01.

1 1
01’1—6 OTTéa
is shaded. is shaded.
3 . . 45 . .
3918 equivalent to 0.3. 100 equivalent to 0.45.

Write the amount shaded as a fraction. Then write the
fraction as a decimal.

1 .
82 X 165 1S shaded.

is equivalent to

Shade the model to show 5 tenths. Then write a
fraction and a decimal to describe the amount shaded.

= or is shaded.

Write a fraction and a decimal to represent
17 hundredths.

and
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Solve.

How many places after the decimal point does the

equivalent decimal have if:
a. the denominator of the fraction is 10?

b. the denominator of the fraction is 1007

Look at your answers to problem 4. Explain the
reasoning you used to find the answers.

Shade the model to show 4 hundredths. Then write a
fraction and a decimal to describe the amount shaded.

,or is shaded.

Choose either Yes or No to tell if the expression or
number represents 7 hundredths.

a. 7 X 716 D Yes D No
b. 7X T(155 D Yes D No
c. 070 [Ives [Ino
d. 0.07 D Yes D No

. Explain how using a model can help you write a fraction
with a denominator of 10 or 100 as a decimal.
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Study the example problem showing how to read
a decimal. Then solve problems 1-7.

Example

To read a decimal, you name the place value of the
smallest-sized unit, and telt how many of those units
there are.

" Ones |.| Tenths | Hundredths Thousandths
0 . 0 7 3

The least place value of 0.073 is thousandths.
There are 73 thousandths.
To read the decimal 0.073, say: seventy-three thousandths.

Write the decimal 0.24 in the place-value chart.

'Ones . || Tenths Hundredths Thousandths

| Using the chart in problem 1, what is the least place
value of 0.247

How do you read the decimal 0.24?

Write the word form of each decimal.

a. 08

b. 0.08

c. 0.008

©Curriculum Associates, LLC Copying is not permitted.
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Soive.

The two grids show the same amount shaded. Is the
word form of the decimals the same? Explain.

0.4 is shaded. 0.40 is shaded.

0.68 = 0.6 +

= X 01+8X

Write the expanded form of 0.031 with fractions.

_ e 1
0.031 =| | X155 T L_1¥ 7000
__ 3 41

= 1000 T 7,000

- %@m%@ﬁ%@w |

1 :expanded form a way

~ 7,000

 -"_..(3><10)+(4><1)+ e

i
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Study the example showing a number written in

multiple forms. Then solve problems 1-6.

Example
words one and forty-six thousandths
mixed number 1 —1-%%—0
1+ T,tcl;_%‘d
expanded form 1+ {é_?)ﬁ + Tgf)_ﬁ
1+t ﬁ?ﬁ
decimal 1.046

In the exampile,

what does the 0 in 1.046 mean?

Fill in the missing information in the table below.

words

three and seventy-two hundredths

mixed number

3 100
72
3+ 006
expanded form 34+ 5 + B
3+55 T 00
decimal
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Solve.

Fill in the blanks to write numbers and words to show
the values of the digits.

Four and seventy-two hundredths is ones and
hundredths. 72 hundredths is hundredths

and hundredths, or 7 and

2

Write the decimal four and seventy-two hundredths in
the place-value chart and then write it in decimal form.

“Ones | .| Tenths | 'Hundredths | Thousandths

Four and seventy-two hundredths is written

' When a decimal is written in word form, what indicates
that the equivalent form is a mixed number and nota

fraction? Explain.

The length of an Eastern Gray Tree Frog tadpole can
be as long as five and twenty-two hundredths
centimeters. What is this length written as a decimal?

Show your work.

Solution:

E% Lesson 3 Read and Write Decimals
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Solve the problems.

Sonya measured her pet mouse from the tip of its

nose to the tip of its tail. Her mouse is fourteen
hundredths of a meter long. Which of the following

expresses this length as a decimal?
A 0014 C 14
B 014 D 14.00

represents 0.87.

8 7

a. 0 + 700 D Yes
8 7

b. 100 + 700 D Yes

c. 87 hundredths I:I Yes

d. eighty-seven hundredths DYes

Choose either Yes or No to tell if each of the following

[ Ino
[ Ino
[ Ino
[ Ino

:;How many ciec:rnal
jplaces will this
_:nwnber have?

What are the place

) :valuef of each d:gr!‘ :
: ::n O 87? : o

1 1
3X10+2X1+6X1OO+4X1000

expanded form of which decimal?

A 32064 C 32604
B 32.064 D 320.064

Santo chose € as the correct answer. How did he get

that answer?

is the

g represenfed in ‘Hae

Which aec;;mn_ RR
placesare

:ex?a_ncled fprm?
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Solve.

Doria swam the 100-meter backstroke in
58.329 seconds. How do you express this time
in words?

Show your work.

Solution:

: .W_lfix_a_f‘ mixed number o
~could represent -
sgmar

Which of the following correctly represent 1.706?7
Circle the letter for all that apply.

A 1+07+0.06

B 1+0.7+0.006

C 1+706X01

D 1+7X0.001+6Xx0.001
E 1+7X014+6X0.001

each answer choice
represent? .

A box turtle Marcos found is 0.115 of a meter long.
What is this length in expanded form?

-';'répre'sehfed ina... . :

Show your work. _ P ey
y 'piac_e—_\/qi_u_e_ rchar‘!‘?g e
o
Solution:
©Curriculum Associates, [LC  Copying is not permitted.
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Study the example comparing decimalsina
place-value chart. Then solve problems 1-5.

Example

Compare 0.6 and 0.59 using =, =, Or <.

Write the decimals in a place-value chart.

“Ones |.| Tenths | Hundredths
0 f.| 6 0
0 |.| 5 9

Remember that 6 tenths equals 60 hundredths.

Start at the leftmost place value and compare until you
find digits that are different.

Ones:0=20
Tenths: 6 > 5

The tenths are different. 6 > 5.

So, 0.6 > 0.59,

Compare 8.7 and 8.5 using =, =, or <.

Use the place-value chart to compare the foliowing
decimals to 0.59. Find the decimals that are less than
0.59. Circle the letter of all that apply.

A 0.07
B 04
C 06
D 055

©Curricalum Associates, LLC  Copying is not permitted.
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0 . 4
0 . 6
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Solve.

% Write the decimals 1.24and 1.31in the chart.

" Ones- |'. | Tenths | Hundredths -

Compare 1.24 and 1.3 using >, =, or <.

Look at problem 3. In which places do you need to
compare digits? In which place do you not need to
compare digits? Explain.

Which change would make the statement below true?
Circle the letter of the correct answer.

3.7 <356

. '\_A'/_I.q_af new : ; B
statementwould o
_ késu]’l‘fkom Zea__ch:

‘change? "\

A Puta 0 in the hundredths place to change
3.7 to 3.70.

B Change the hundredths digitin 3.56 t0 8.
Change the tenths digitin 3.7 to 6.
D Change the tenths digitin 3.56 to 8.

>
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Study the example problem comparing decimals
rewritten as mixed numbers. Then solve problems 1-6.

e e

Example

Package A weighs 1.401 kilograms. Package B weighs
1.29 kilograms. Write an inequality statement comparing
the weights of the packages.

Express the weights as mixed numbers with like
denominators. Then compare.

__ 4401 _ 129 _ 4290
1401 =1 1,000 129 =1 100 1 1,000
401 . 290
1 is greater than 1 1000 |

1,000

So, 1.401 > 1.29. The weight of Package A is greater than
the weight of Package B.

A

. Complete the steps to write an inequality statement
comparing 2.087 and 2.15 using mixed numbers.

. _ 15 —
2087 =2 =—= 215 = 2 = 2—w~—~—11000
2=—5 than ? =/=—,.
2.087 2.15

Which statement and reasoning is true about the
decimals 0.4 and 0.06? Circle the letter of all that apply.

A 04> 0,06 because 40~ 6

1007 1007
B 0.4 > 0.06 because 4 tenths is greater than
6 hundredths.
4 6
C 04 <0.06 because 5 <35
D 04 < 0.06 because 6 hundredths is greater than
4 tenths.

©Curriculum Associates, LLC Copying is not permitted. Lesson 4 Compare and Round Decimals
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Solve.

Write a number from the box to make each statement true.
0.007 0.070 0.072

a. 007= 0.068 0.608
b. 007 >
c. 007 <

Compare 5.269 and 5.038.

a. Write 5.269 and 5.038 as sums of fractions.

= 6
5269=5+ 0 + + 1000

5038 = 5 + —2e +

1,000

b. Write 5.269 and 5.038 as mixed numbers.

5.038=5

¢. Compare 5.269 and 5.038 using >, =, or <.

Look at problem 4. Why is 5.269 written as the sum of
four numbers and 5.038 as the sum of only three numbers?

Daslyn has a piece of rope 2.085 meters long and
another piece 2.63 meters long. Which piece can she
cut to make a piece that is 2.5 meters long?

Show your work.

Solution:

o 32 Lesson 4 Compare and Round Decimals ©Curriculum Associates, LLC  Copying is not permitted.
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Study the example problem showing how to round a
decimal by plotting it on a number line. Then solve
problems 1-5.

Exarnple

Chiara runs 0.446 kilometer in one lap around the track,
What is this distance rounded to the nearest hundredth?

Place 0.446 on a number line to see its relationship to
nearby hundredths.

0.446

S o ot U i S A R S S liliiitial il £

At
0.44 0.445
0.446 is between 0.44 and 0.45, and closer to 0.45.

The distance rounded to the nearest hundredth is
0.45 kilometer.

Round 0.446 kilometer to the nearest tenth by
foliowing these steps:

a. Complete the marking of the number line to show
hundredths.

b. Label 0446 on the number line.

c. Determine whether 0.446 is closer to 0.4 or 0.5.
If the hundredths digit in 0.446 is 5 or greater,
round up. If the hundredths digitin 0446 is less
than 5, round down. What is 0.446 kilometer
rounded to the nearest tenth?

©Curriculum Associates, LLC  Copying is niot permitted.
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Solve.

Aubra and Tony are rounding the number 1.65 to the
nearest tenth. On a number line they see 1.65 is
exactly halfway between 1.6 and 1.7. Aubra says to
round to the greater value, 1.7. Tony says because it is
in the middle, you can round to either value. Who is
right? Explain.

Complete the table to compare 4.77 1o nearby tenths.

To the nearest tenth, 4.77 rounds to

One gallon is equal to about 3.785 liters. What is this
amount rounded to the nearest tenth?

Show your work.

Solution:

“Ones | .| Tenths | Hundredths
4 7
4 7 7
4 8

Look at problem 4. What is the greatest number of
whole liters of water you could pour into a one-gallon
container without it overflowing? Explain your answer.

Lesson 4 Compare and Round Decimals
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Solve the problems.

Which of the following decimals is greater than 0.66

but less than 0.68? Citcle the letter for all that apply. : How A" ! re?rese“f

: these ncmnberf ina
A 067 ':place VQiue cimr‘l'?

0.57

B
C 0665
D 0.69

A carton holds 1.248 liters of fruit juice. What
is this amount rounded to the nearest tenth?
Use the number line below.

-'.Wi;icb.d.i.g_ifs do 1 :
“need tolookat?.
Which d:gu’rs can I

Show your work. - igno ,,e?
o y : | | | 1 | ! | |

12 1z 1.3
Solution:

Which of the following comparison statements is not
true? Circle the letter for all that apply.

‘I anumberisina

 form that isnoteasy
A 62 >638 38 to compate, lnaw can
‘IOO 100
4 8 1 reWrd’e Y
A A e 1
C 6+4>< +1><wo<6+3>< +8X100
D 6.41<6.38
. ) - . . &
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Solve.

The lengths of four trails are listed below. e T
9 ! 3Which_hu_mbe_r_$_dol
needtocompare?

Oak Trail 10.653 kilometers
Maple Trail | 10.592 kilometers
Pine Trail 10.732 kilometers
Spruce Trail | 10.484 kilometers

Which trail is closest in length to 10.5 kilometers?
A OakTrail C Pine Trail
B Maple Trail D Spruce Trail

Padma chose B. How did she get that answer?

Howdoeseach
_c%a’nge_affeé:ffhé.. -
é'um-ber_s;i_ﬁ 'l"he_ii'-;'- ]
statement? o

Circle the letter of all that apply.

2.309 rounded to the nearest tenth is 2.4.

A Take out the 0 in the hundredths place to change
2.309 to 2.39.

B Change the 3 in the tenths place of 2.309 to 4.
Change the 4 in the tenths place of 24 to 3.

D Change the 0in the hundredths place of 2.309 to 4.

26 Lesson 4 Compare and Round Decimals ©Curriculum Associates, LLC  Copying is not permitted.
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Study the example showing subtracting whole
numbers using regrouping. Then solve problems 1-6.

Example
Find 8,305 — 4,26/.
20
Write the problem 8,365 3 hundreds = 2 hundreds + 10 tens
vertically. - 4,267
Align places and
regroup as needed. L4 10tens =9tens + 10 ones
8,3},%5’ 5 ones + 10 ones = 15 ones
— 4,267 |
2 2 15
Subtract. 8,325'57
— 4207
4,038 So, 8,305 — 4,267 = 4,038.

Which of the equations represents regrouping needed for 52,134
the problem shown? Circle the letter for ali that apply. — 36,091

A 3tens = 2tens + 10 ones

B 1 hundred = 0 hundreds + 10 tens

C 2thousands = 1 thousand + 10 hundreds
D

5 ten thousands = 4 ten thousands + 10 thousands

Find the difference for the subtraction problem in
problem 1.

Show your work.

Solution:

_ 51
P ﬁ&xf’?
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Solve.

You can also show regrouping above addition problems. 627,%43
The addition to the right is partially completed. Why is + 236,083
there a 1 above the hundreds place? 76

Look at problem 3.

a. Estimate the sum.

b. Find the sum.

¢. Is your answer reasonable? Explain.

. . i  Mountain | Elevation
Use the information in the chart to solve (Continent) | (feet) -
problems 5 and 6. E
: verest 9,035
| How much higher is the summit of Mt. McKinley than MEKimey_ 20,237
the summit of Mt. Kosciuszko? (North America)
Kosciuszko 2310
Show your work. (Australia) !

Solution:

How much higher is the summit of Mt. Everest than the
combined elevations of Mt. McKinley and Mt. Kosciuszko?

Show your work.

Solution:

Lesson 7 Add and Subtract Decimals ©Curriculum Associates, LLC  Copying is not permitted.




Study the example problem showing decimal addition
using a place-value chart. Then solve problems 1-5.

Example

Alana walks 3.45 miles before lunch and 5.18 miles after
lunch. How many miles does she walk in all?

“Ones. |.| Tenths | Hundredths
3 . 4 5
5 . 1 8

3 ones + 5 ones = 8 ones
4 tenths + 1 tenth = 5 tenths
5 hundredths -+ 8 hundredths = 13 hundredths

Sum = 8 ones + 5 tenths + 13 hundredths
— 8 ones + 6 tenths + 3 hundredths

Alana walks 8.63 miles in all.

e .

pr P, S i e i

T ot

Look at the example problem. Suppose Alana walks
6.6 miles the next day. Complete the steps below to
find the number of miles she walks in two days.

Ones | . - Tenths Hundredths
8 ; 6 3
Sum = 14 ones + tenths + hundredths

= ___ onhes+ 2tenths + 3 hundredths

= ten + ones + tenths + hundredths
Alana walks miles in two days.
©Curriculum Associates, LLC  Copying is not permitted. Lesson 7 Add and Subtract Decimals
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Solve.

You can also add decimals by writing the problem 14 152

vertically, lining up the decimal points to keep track +92.29
of place values. : 1

The problem to the right is partially completed.
Explain why there is a 1 above the tenths place.

Find the sum for the addition problem in problem 2.
Tell whether each statement about it is True or False.

a. ltis more than 36. D True l:l False
b. ltis closer to 37 than 36. D True D False
¢ ltis3671. C e [ False
d. itis 36.81. D True D False

The size 4 soccer ball Sean’s team uses should weigh
no more than 0.37 kilogram, and no less than

0.31 kilogram. A soccer bag has two balls in it. What is
the most they could weigh together? The least?

Show your work.

Solution:

Look at problem 4. Will three soccer balls weigh more than 1 kilogram? Explain.

58 Lesson 7 Add and Subtract Decimais ©Curriculum Associates, LLC  Copying is not permitted.

sl




Study the example problem showing decimal subtraction using

a place-value chart. Then solve problems 1-5.

Exampie

did he run this year than last year?

last year's times.

Regroup as needed in order to subtract.

Use a place-value chart to write this yeat’s and

Last year Jeff ran the 40-yard dash in 5.8 seconds.
This year he ran it in 5.48 seconds. How much faster

"I T ones || Tenths | Hundredths
Last year's time 5 . 8 0
is the same as 5 . 7 10
This year's time 5 . 4 8

5 ones — 5 ones = 0 ones
7 tenths — 4 tenths = 3 tenths

P

10 hundredths — 8 hundredths = 2 hundredths
Difference = 0 ones + 3 tenths + 2 hundredths

Jeff ran 0.32 second faster this year than last year.

Look at the example problem. Jeff's brother Rob ran

the 40-yard dash in 4.95 seconds this year. Complete
the steps. How much faster did Rob run than Jeff?

Sl Ones L Tenths | Hundredths
Jeff'stime 5 . 4 8
isthe same as 4
Rob's time 4 . g 5
ones — 4 ones = ones
tenths — 9 tenths = tenths
hundredths — 5 hundredths = hundredths
Difference = Q0 ones + tenths + hundredths

Rob ran second faster than Jeff.

©Curriculum Associates, LLC  Copying is not permitted.
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Solve.

! You can also subtract decimals by writing the problem 7%"1}
vertically, lining up the decimal points to keep track of _ 5'2 4
place values. :

The problem to the right is partially completed.
Explain the regrouping shown.

Find the difference for the subtraction problem in
problem 2. Use the numbers in the box to complete
the statements. 207 2177 27

2 3 7

The difference is

The difference is closest to the whole number

Between 6:00 M and 8:00 pm the temperature fell
5.25°F. At 6:00 pv the temperature was 62.4°F. What
was the temperature at 8:00 pm?

A 57.25°% C 10.10°F
B 5715°%F D 109°F

Haley's anole lizard measures 14.5 centimeters. Caleb’s
anole lizard measures 12.34 centimeters. An anole
lizard's tail is half its length. How much longer is the
tail of Haley’s lizard than the tail of Caleb’s lizard?

Show your work.

Solution:

Lesson 7 Add and Subtract Decimals
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Solve the problems.

Jake bought 4.08 pounds of apples. He knows that
1.19 pounds are Gala apples and the rest are Cameo
apples. How many pounds of Cameo apples did he

buy?
A 289 C 389
B 311 D 527

Chase chose answer C. How did he get that answer?

_.Z Doyou need 1‘0 :

regroup. 1‘0 'F:nd 'Hae B

anSWer?

Tell whether each number sentence is True or False.

a. 835+79=1625 [ lue  [ralse
b. 531 —-3=231 D True D False
. 9443+749=16933 | JTue [ Jralse
d. 183.7 + 28.34 = 467.1 D True D False

R Remember 1‘0 lme
~up '!'he dec:ma]
: pomfs‘ to: keep frack

i O‘F p]ace Values

How did you decide your answer to d. in problem 2?
Explain.

©Curriculum Associates, I.LC  Copying is not permitted.
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Solve.

The distance between the goals on a soccer field is

52 meters. Each goal has a box that extends

5.49 meters into the field. What is the distance from
the front of the box at one end of the field to the front
of the box at the other end of the field?

diagram to help
understand the =

o
Show your work. T o

Solution:

Ms. Chen’s fifth-grade class held bake saleson Tuesday /= = " )
and Thursday during lunch to raise money to buy Where doyou find

science equipment for the classroom.

howmuchmoney .
“was raisedion’ 1
Thursdayinthe
fable? e

They raised $20.55 more on Thursday than on Tuesday.
Use this information to fill in the data that are missing
from the table.

1 1% lunch | 2" lunch i 3“lunch |  TOTAL
Tuesday | $21.45 §25.90
Thursday . $26.35 $86.70
CTOTAL | $50.55 $57.15

i oy Lesson 7 Add and Subtract Decimals ©Curriculum Associates, LLC  Copying is not permitted.




Study the example problem showing one way to multiply whole numbers

using partial products. Then solve problems 1-6.

Example

There are 325 stickers in one package. How many
stickers are in 60 packages?
325X 60 =7

325
X 60

300 «— 6tens X 5o0nes
1,200 <«— 6 tens X 2tens
+ 18,000 «— 6 tens X 3 hundreds

19,500

325 X 60 = 19,500 There are 19,500 stickers in 60 packages.

e vﬁ KRR LR Mm it e oy e,

Look at the example problem. How would the partial
products and the sum of the partial products change
if there were 6 packages instead of 607 Explain.

Complete the steps to find the product.

325
x 6
(6 X 5}
( X )
( )

©Curriculum Associates, LLC  Copying is not permitted.
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Solve.

Show how to find 42 X 27 using an area model. 20 7
a. Write the missing equations in the model.
b. Use the information from the model to
compiete the equation. 40
2 2X7=14

42 X 27 = + + + =

s your answer to problem 3 reasonable? Explain your
thinking.

A pet-supply store sells dog biscuits and cat treats. The
store has 27 boxes of dog biscuits and 21 pouches of
cat treats. Each box holds 18 dog biscuits. Each pouch
holds 24 cat treats. Are there more dog biscuits or cat
treats in the store?

Show your work.

Solution:

Look at problem 5, How many more boxes of dog
biscuits do you need in order for there to be more
dog biscuits than cat treats? Explain.

Lesson 8 Multiply Decimals @®Curriculum Associates, LLC  Copying is not permitted.
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Study the example showing multiplying a decimal by a whole number
using partial products. Then solve problems 1-7.

Example 1
317 x4 =[?7] Estimate:3x 4 =12
317
X 4 i
28 «— 4 ones X 7 hundredths = 28 hundredths :
40 «— 4ones X 1tenth = 4tenths = 40 hundredths
+ 1,200 «— 4 ones X 3ones = 12 ones = 1,200 hundredths L
1,268 hundredths = 12.68 '
Look at the example. Compare the product with the
estimate. Is it reasonable that the product is greater
than the estimate? Explain.
Complete the steps to find the product.
0.35
X 3
+—3 ones X hundredths = hundredths
+ +«— 3 ones X tenths = tenths = hundredths
hundredths =

Look at problem 2. Why wasn't the zero in the ones place included as a partial product?

©Curriculum Asscciates, LLC  Copying is not permitted.




Solve.

Write the decimal point in each product so that the
equation is correct.

a. 6xX829=4974 c. 972X7=6804
b. 053 X5=265 d. 318X 16=5088

| Explain how you decided where to place the decimal
points in the products in problem 4.

Complete the steps to find 3.18 X 16.

3.18 3.18
%X 10 X b
80
+ +
318 X 16 = hundredths + hundredths
= hundredths =

In the city where Sonya lives it rained an average of
4.05 inches each month last year. About how many
inches of rain fell in ali?

Show your work.

Solution:

Lesson 8 Multiply Decimals ©Curriculum Associates, LLC  Copying is not permitted.




Study the example showing multiplying a decimal by a decimal
using an area model. Then solve problems 1-5.

? Example

1 Find13 X 06.

0.6

’ 1% 06=06
] >

| 0.3 X 0.6 =018
103

| 13x06=06+018=078

Complete the area model. Find the product of 2.3 X 1.5.

1 0.5

2X1=2

23X 15=

How would the area model in problem 1 need to
change if the factor 2.3 was changed to 12.37

o
W
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Solve.

Halen wrote the product 0.4 for the problem shown. 05X 08 =
Don says that is not correct since when you multiply

tenths by tenths the product will be in the

hundredths. is Don right? Explain.

Use numbers from the box to complete the equations. 0.01 01 :

a. 0.5X04= c. 02X05=___ 0.02 0.2 2

b. 05X4= d 2X05=

. The Barga school grows lettuce and other vegetables
for school lunches. The school garden is 8.4 meters
long and 6.4 meters wide. The section used to grow
lettuce is 2.2 meters Jong and 0.8 meter wide. How
many square meters of ground does the garden cover?
How many square meters of the garden is used to
grow lettuce?

Show your work.
Solution:The gardencovers ___________square
meters ofgroundand ________ square meters of

the garden is used to grow lettuce.
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Solve the problems.

Fabiola’s basketball team practices 4.25 hours each
week. The basketball season is 14 weeks long. How
much time does Fabiola spend in practice during the
season?

Show your work.

Solution:

Canluse d'n. éf'eb' 8
mode! to. so!ve ‘Hms

The model represents the expression 0.7 X 0.3.

Choose the product. 0.3
A 021 C 030
B 21 D 003 0.7

Val chose C as the correct answer.
How did she get that answer?

Find the product of 0.6 X 0.6.

A 306 C 306
B 36 D 036

©Curriculum Associates, LLC  Copying is not permitted.
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Solve.

| One pound of red grapes costs $2.42. Ella buys e
0.5 pound. How much does she spend on red grapes? _ Will the productbe -

~greater or less than

2HIP L

Show your work.

Solution:

How many daysina
- weekis Terryin. =

Terry lives 0.9 kilometer from school. He walks back
and forth to school each day. How many kilometers
does he walk to and from school each week?

Show your work.

Solution:

72 Lesson 8 Muitiply Decimals ©Curriculum Associates, LLC  Copying is not permitted.




Study the example problem showing how to use a
bar model to represent division. Then solve problems 1-5.

Example

Stands at the Lincoln Football Field seat 320 peoplie. They
are divided into 4 equal sections. How many people can
sit in each section?

320+ 4= 320 seats

|

You can represent this division

problem with a bar model. l i 1

To find 320 + 4, think 4 X | 7 | = 320.

320 = 32 tens 4 X 8 tens = 32 tens
4 %X 80 = 320

320 - 4=280 80 people can sit in each section.

Look at the example. How would the quotient change if
the total number of seats was 3,200 instead of 3207 Explain.

Rewrite each division problem as a multiplication problem and solve.

a 490=7=[2] ____X[2|=__ = 490+7=___

b. 2400+ 12=|2 x[?]=____ 2400+12=__
c. 350+50=[?] x[?7]=__ 3s0+s50=__
d sa0+9=[7] _ x[7]=__ s5400+90=__

©Curriculum Associates, LLC  Copying is not permitted.
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Solve.

% Choose Yes or No to tell whether the expression
represents the number 40.

a. 1600+ 4 D Yes D No
b. 120+3 D Yes D No
c. 480+ 12 I:] Yes [—_—l No
d. 280+ 70 D Yes D No

A large drink dispenser used at a school field day holds
640 ounces of lemonade, How many glasses of
lemonade can be poured from the dispenser if each
glass holds 8 ounces?

Show your work.

Solution:

Each costume for a dance group in a talent show
requires 2 yards of black material and 3 yards of red
material. The dance group has 30 yards of black
material and 60 yards of red material. What is the
greatest number of costumes they can make? Explain.

Show your work.

Solution:

Lesson 9 Divide Decimals
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Study the example problem showing one way to divide a decimal by a
whole number. Then solve problems 1-5.

Example

The temperature rose 4.8 degrees in 6 hours. If the
temperature rose by an equal amount each hour, how
many degrees did it rise each hour?

You can represent this with a bar model.

4.8
degrees
I ]
| ! | \ l ! |
prJ

To find 4.8 = 6, think 6 X | 7 | = 4.8.

4.8 = 48 tenths 6 X 8 tenths = 48 tenths
6X08=48
48 +-6=108

had risen 5.4 degrees in 6 hours. Complete the steps o

solve 5.4 + 6.
a. 54+6 Thinki____ Xj?|=__ _
b. 54=__ tenths ___ X|?]|= ____ _tenths
c. 6X____ tenths=___ tenths
d 54+6=___
Use numbers from the box. Write the number of tenths
and hundredths in each decimal. 3.5 3500'79 350'35
35=__  tenths 3.5=__  hundredths 79 79 790
079=___  tenths 079 = hundredths
©Curriculum Associates, LLC  Copying is not permitted. Lesson 9 Divide Decimals P +

N T



Solve.

Complete the steps for using an area model to

solve 1.56 ~ 12.
1.56 — 12 is the same.as x = ;
1.56 = hundredths
?
12X 10= 12X 3=
156 156
1 —» 12
2 hundredths
156 hundredths ~ 12 = hundredths
156 12 =

Conor earns $9 an hour for yard work. He raked leaves
one afternoon and earned $29.25. How many hours
did he rake leaves?

Show your work.

Solution:

' Look at problem 4. How much does Conor earn for
each minute he does yard work?

 Thereare 0 minutes |
inlhour. o

Show your work.

Solution:

Lesson 9 Divide Decimals ©Curricehim Associates, LLC  Copying is not permitted.




Study the example showing one way to divide
a decimal by a decimal. Then solve problems 1-7.

Example
Whatis 2.1 + 0.77

You can represent this problem with decimal grids.

Each large square represents 1 whole.
To find 2.1 = 0.7, think 0.7 X 7 = 2.1.
The lines separate groups of 0.7.

2.1 = 21 tenths
0.7 = 7tenths

In words: 7 tenths X 7 = 21 tenths
7 tenths X 3 = 21 tenths

21 +07=3

represented by the grids?

Look at the example. How is the quotient, 3,

What other expressions are represented by the
decimal grids in the example problem? Circle the

letter of ali that apply.

A 07X3 C 07+3

B 3X07 D 21+3

How many grids would you need to represent the

problem 4.5 =+ 0.57 Explain.

©Curriculum Associates, LLC  Copying is not permitted.
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Solve.

Complete the steps to solve 4.5 + 0.5.

a. 4.5- 0.5 Think xX|71=

b. 45=__  tenthsand05=___  tenths
c. Stenths X =45tenths

d 45+05=

The Razdan family drinks 0.5 gallon of milk a day. Will
2.5 gallons of milk last them more than 1 week? Explain.

Show your work.

Solution:

Mrs. Lang is hanging drawings for the school art show
across a wall that is 2.8 meters wide. She determines
each picture, along with the space needed around
each picture, will take up 0.4 meter along the wall. How
many pictures can she hang in one row across the wall?

Show your work.

Solution:

Lesson 9 Divide Decimals ©Curriculum Associates, LLC  Copying is not permitied.




Study the example showing one way to divide by
hundredths. Then solve problems 1-6. '

Example
| 18+004=7
identify the least place. Write each Divide as you would with whole
1 decimal to the least place. numbers, using partial quotients
or another method.
0.04 = 4 hundredths
1.8 = 180 hundredths 45
5
180 hundredths + 4 hundredths = 45 40
1.8 + 004 =45 47180
— 160
: 20
- 20
0
b. 102= hundredths
0.06 = hundredths
c 102+06=
d 102+ 0.06=
Did you use partial quotients or another method to
divide 102 by 6 in problem 17 Explain.
Check your answer to problem 1 by writing the
decimals in a multiplication equation.
> =
©Curriculum Associates, LLC Copying is not permitted. Lesson 9 Divide Decimals &1
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Solve.

Choose True or False for each equation.

a. 1.23 = 123 hundredths D True D False
b. 0.5 = 50 hundredths D True D False
¢. 74 hundredths = 74 D True D False
d. 1,088 hundredths = 10.88 D True D False

aden buys 1.15 pounds of cheese at the deli counter.
I each slice is 0.05 pound, how many slices of cheese
does she buy?

Show your work.

Solution:

Ray feeds his dog 0.12 kilogram of dry dog food each
day. He wants to buy the smallest bag that has
enough food to feed his dog for one month. Should
he buy the bag that has 1.8 kilograms, 2.4 kilograms,
or 4.2 kilograms of dog food?

Show your work.

Solution:

8z Lesson 9 Divide Decimals
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Solve the problems.

Evan walks his dog 4 times around the perimeter of a
park, for a total distance of 2.8 kilometers. How many
kilometers does he walk each time around? Circle the

letter of the correct answer.
A 007 C 07

B 012 D 12

'.Wha‘i'bas:c fac‘f‘can
g 'help you soiVe ‘!‘lms
;'proHem? "

How many 45¢ stamps can you buy with $97 Circle the
letter of the correct answer.

A 02 C 20

B 2 D 200

Da Jin chose D as the correct answer. How did he get
that answer?

Which change would make the statement below true?
3.9 = 39 hundredths

Change 3.9 to 3.90.
Change hundredths to tenths.

Change hundredths to ones.

o N W >

Change 3.9 to 390.

g How cfo you Wrri'e Z. ; o
: j‘f‘5¢ as. a dec:ma]?
$q asa d.e.cr:ma_]?_

- I'l' may be Ine}pfu| '!'o _:
Z;reWrri'e ‘Hae equa‘hon
“for each change

: descnbed

©Curriculum Associates, LLC Copying is not permitted.
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Choose Yes or No to tell if the expression is W B e R
represented by the bar model. Whatis the least
place shown inthe

| 9.6 | twodecimals?
I N 2 I B s
L |
0.6

a. 96 +06 D Yes l:l No
b. 96+6 I:l Yes D No
c. 006+96 [ Ives [Ino
d 06-+96 D Yes D No

Banks sell quarters in rolls. Each roli has a value of $10.
PartA

. Wi')._a._‘libp.ém_‘f_‘iqn can g

.).":?V:_U.se to 'sb']\:/é'.ﬂ,'e o
How many quarters are in one rolil? “problem?

Show your work.

Solution:

Part B

If a roll of dimes also had a value of $10, how many
dimes would be in the roll?

Show your work.

Solution:
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Example

Nan tiled a 5-foot by 8-foot section of her kitchen floor.
Each tile covers 1 square foot. What is the area of the floor
that she tiled? 5 ft

Area is the number of square units a figure covers.
The floor has 5 rows of tiles. 8 ft
There are 8 tiles in each row.

Multiply 5 feet X 8 feet to find the area of the tiled floor.

Area = 5 feet X 8 feet = 40 square feet

T I I e

M T R

Each square in the rectangle on the right covers
1 square centimeter.

There are rows of squares.
There are squares in each row,
The area of the rectangle is square

centimeters.

What is the area of the rug at the right?

Show your work.

9ft

Solution:

The infield of a baseball field is a square with sides that
are 90 feet, What is the area of the infield?
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Solve.

he diagram shows the dimensions of two desks that

Hannah is thinking about buying. What is the area of 4 ft A
each desktop?

Show your work. 6 ft
3t B
Solution: 7 ft

The width of Andy’s porch is 5 feet. Its area is
40 square feet. How long is the porch?

Show your work.

Solution:

Look at problem 5. Andy wants to extend his porch
by adding on to the length. This new section will
have the same width, but he wants the porch to
have a total area of 60 square feet. What should he
make the length of the new section?

Show your work.

Solution:

Jillian wants her rectangular garden to cover an area
of 180 square feet. What are the lengths and widths of
two possible rectangles she can use? Explain.

2@@ Lesson 24 Understand Volume

F Pa
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Study the example problem showing how to use unit cubes to find the

volume of a rectangular prism. Then solve problems 1-8.

Example

Peter stacked unit cubes to build this rectangular prism.
What is the volume of the figure?

There are 4 unit cubes in 1 layer.
There are 5 layers.
4+ 4+ 4+ 4+ 4 =20 unit cubes

5 X 4 = 20 unit cubes

Volume = 20 cubic units 1 layer

Look at figure A and fill in the blanks below.

There are layers and cubic units in
each layer.

The volume of thislﬁgure is

X = cubic units.

What is the volume of figure B? Tell how you know.

Elena stacks 2 layers of 4 unit cubes to fill a small box.
How many cubes are in the box?

What is the volume of Elena’s box?

©Curriculum Associates, LLC  Copying is not permitted.
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© cubicunit acube,

. volume theamountof
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Solve.

Look at figure C and fill in the blanks below.

There are layers and cubic units in
each layer.

The volume of this block is

X = cubic units.

What is the volume of figure D?

How many of figure D does it take to fill figure E? How
does the volume of figure D relate to the volume of
figure E? Explain.

A block has a volume of 36 cubic units. It has 9 layers
of cubic units. How many cubic units are in each layer?

Draw or describe box F that has a volume of 5 cubic
units. Then draw or describe a box that has 3 times the
volume of box F. What is the volume of the second
box?

Solution:

262 Lesson 24 Understand Volume
s £
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Study the example. Underline two parts that you think make it a

particularly good answer and a helpful example.

Example

§§ Niles built this rectangular prism with unit cubes.
| Then he took apart the prism and built a different

prism with the same number of cubes. Draw a

picture of the second prism that Niles could have
made.

Describe the number of layers and the number of cubes in
each layer of both prisms, Write a statement to compare
the volume of the prisms.

Show your work. Use pictures, words, or numbers to
explain your answer.

The first prism that Niles built has 3 layers and 4 cubes
in each layer.

The second prism that Niles built has 2 layers and
& cubes in each laver.

1% 4= 12 and 2 X 6 = 12. Both prisms are made of
12 unit cubes, so both have a volume of 12 cubic units.

The volume of both prisms is the same,

s

©Curriculum Associates, 11L.C  Copying is not permitted.
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Solve the problem. Use what you learned from the example on the previous page.

Exarple

Leah built this rectangular prism with unit it e i it €8
cubes. Then she took apart the prism and 8k
built a different prism with the same
number of cubes. Draw a picture of the
second prism that Leah could have made.

Describe the number of layers and the number of cubes in each layer of
both prisms. Write a statement to compare the volume of the prisms.

Show your work. Use pictures, words, or numbers to (L e
explain your answer. ZD"{.)_";"_’-""_‘ R
':E° Z.gh_o_wj_a draWrng?
descrbethe
- andnumberof
Ucubesineach
- ']a)'fg"r?._3?f'-'3_ L -
L Comparethe.
volume of each
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Study the example problem showmg how to fmd volume
by counting unit cubes. Then solve problems 1-8.

Example
Harry stacked blocks to make a wall. What is the volume of
the wall?
The volume of each _
block is 1 cubic unit. 1 unit .
1 unit
1 unit

1 cubic unit

Count the blocks in the wall to find the volume,

There are 12 blocks. The volume is 12 cubic units.

11213
47156
8179
1011112

The green cubes show 1 layer of figure A.

Figure A has layers.
There are cubes in each layer.
The volume of figure A is cubic units.

Fill in the blanks to describe
figure B.

layers

cubes in each layer

Volume = cubic units

B

If you add another layer to figure B, what would the
volume be? Explain.

©Curriculum Associates, LLC  Copying is not permitted.
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Solve.

Figure M has layers.

There are cubes in each layer.

The volume of figure M is cubic units.

Figure N is a rectangular prism that has twice the
volume of figure M. How many layers and how many
cubes in each layer could there be in figure N?

What is the volume of figure R?

How many of figure R does it take to fill figure 57 How
does the volume of figure S relate to the volume of
figure R? Explain.

Show how to find the volume of box T. Then draw or
describe a different box that has the same volume as
box T.
-
} Lesson 25 Find Volume Using Unit Cubes ©Curriculum Associates, LLC  Copying is not permitted.
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Study the example problem showing how to use layers to find the volume
of a rectangular prism. Then solve problems 1-7.

Example
Keith uses this box to store his colored
markers. What is the volume of the box?
4in.
6in. 2in.
Think about filling the box with 1-inch cubes.
{  Onelayer has 2 rows of 6 cubes, or 12 cubes.
| Thereare 4 layers of cubes.
12+ 12+12+12=480r12X 4 =48
The volume of the box is 48 cubic inches.
Look at prism G. G
There are layers with cubes = :
in each layer. 2 cm
cubes + cubes = cubes. o
3cm
The volume is cubic centimeters.
! Look at prism H.
There are layers with cubes i
in each layer. 2 ft —
layers X cubes = cubes. 5ft s '2 ft
The volume is cubic feet.

©Curriculum Associates, LLC  Copying is not permitied. Lesson 25 Find Volume Using Unit Cubes
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Solve.

What is the volume of this rectangular prism?

Show your work. 2 ft |

it

Solution:

Mia has a box that she filled with the cubes at the right.
What is the volume of Mia’s box?

Show your work. 3in. ;

2in. 1in.

Solution:

A box is 2 inches long, 1 inch wide, and 6 inches tall.
What is the relationship between the volume of this
box and the one in problem 4?7 Tell how you know.

: Which has a greater volume, box D or box E? Explain.

Add a layer to box D and compare the volumes of
the new box D and box E.

Lesson 25 Find Volume Using Unit Cubes ©@Curriculum Associates, LLC  Copying is niot permitted.




Solve the problems.

What is the volume of this rectangular prism? B
“How many cubes are -

A 12 cubic units

j_i_n'gq'ch ]q):/_er?i_"-'_ e

13 cubic units

30 cubic units

o N W

60 cubic units

What is the volume of this box? T e

How many layersof -
cubes _wi_!l there Be_-if
~ you fi_“ ‘Hnebox? =

A 6 cubic centimeters

B 10 cubic centimeters

3cm

C 15 cubic centimeters

2¢cm

D 30 cubic centimeters - 5 -cm |

Cindy chose B as the correct answer. How did she get
that answer?

: Draw or describe a different rectangular prism that has O T
the same volume as the prism in problem 1. ' :W}-'-‘-"f-_a_';e_ some: i .
factors of the .
_ hu.rﬁ.B_erﬁfHé‘l‘.‘f'e”S S
“the V-o].r..::rh{e_fn';'-: S

en?
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Solve.

Which expressions can be used to find the volume of
this rectangular prism? Circle the letter of all that

- The}éigyabréthA';_

apply. :
VOlume ofa. :
A 6+4+1 rec‘i’anguiar pnsrn
B 6+6+6+6+6+6 -
C 6X1
D 6+6+1
E 6X6X1

If you add 2 layers to the rectangular prism in
problem 4, how much greater is the volume?

Whaféoes‘ the " -
- 3probiem ask you 'f‘o

Show your work. : {,nd?

Solution:

Mr. Carlo is building a storage box in his workshop. Y e 1_ fb o
S dov canSTarT by

The space where he plans to put the box is 5 feet long :
and 2 feet wide. He wants the volume of the box to be :_‘c”‘d'”9 the “““"l’_?’ o
at least 36 cubic feet, but no more than 56 cubic feet. : 'j"‘c C“bfc fee’f LT
How tall should Mr. Carlo make the box? Explain. i
Show your work.

? ft —

72 1t

Solution:
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Study the example problem showing different ways to find the volume

of a rectangular prism. Then solve problems 1-5.

6+6+6=180r6X3=18

Example

You can fill the box with 1-inch cubes.
Count the cubes.
There are 18 cubes.

You can also count the cubes in 1 layer.
There are 6 cubes in 1 layer.
The box has 3 layers.

A gift box is 3 inches long, 2 inches wide, and 3 inches tall.
What is the volume of the box?

The volume of the box is 18 cubic inches.

1 layer

3in.

3in. 21in.

“2in.

3in.
3 layers

The rectangular prism at the right is made of

centimeter cubes.

Fill in the bianks to show the number of
centimeters on each edge.

Complete the following sentences.
The bottom layer has cubes.

There are layers.

What is the volume of the rectangular prism?

Suppose you add another layer to the prism.
What would the new volume be?

cm

©Curriculum Associates, LLC  Copying is not permitted.
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Solve.

What is the volume of this rectangular prism?

Show your work.

5| |

| - 1 .
Solution:

Max fills this box with 1-inch cubes. Tell how many
cubes are in 1 layer and how many layers there are.
Then find the volume,

41n.

5in.

2in.

A toy box has a volume of 60 cubic feet. The box is
5 feet long and 4 feet wide. What is the height of the
toy box?

Show your work.

Solution:

Jorge has 40 one-inch cubes. What are 2 different
ways that he can stack the cubes to make
a rectangular prism?
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Study the example problem showing how to use formulas to find the
volume of a rectangular prism. Then solve problems 1-7.

Example

Gwen puts her leftover food in a rectangular
container. The container is 6 inches long, 5 inches
wide, and 4 inches tall. What is the volume of the
container?

Use the formula volume = length X width X height.
volume = 6 X 5 X 4, or 120 cubic inches

Or use the formula volume = area of the base X height.
The area of the base is the same as the length X width.

6 X 5 = 30and 30 X 4 = 120 cubic inches

4in.

—— i

Ted's box is 4 inches tall, 3 inches long, and
1 inch wide.

a. Label the picture of the box with its dimensions.

b. What is the volume of the box?

Show your work.

Solution:

| A rectangular prism has a square base with sides that
are 2 feet iong. The height of the prism is 5 feet. What
is the volume of the prism?

Show your work.

Solution:

©Curriculum Associates, LLC  Copying is not permitted.
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Solve.

Greg's shed is 10 feet long, 6 feet wide, and 8 feet tall.
What is the volume of the shed?

Show your work.

Solution:

The base of a rectangular prism has sides that are

2 centimeters and 4 centimeters long. The height of
the prism is 3 centimeters. What is the volume of
the prism?

Show your work.

Solution:

What is the volume of a box that is 8 inches long,
2 inches wide, and 6 inches tall?

Show your work.

Solution:

: The base of a rectangular prism is a rectangle with
sides that are 7 inches and 5 inches long. Its height is
10 inches. Write two different equations that you can
use to find the volume.

= Jin has two boxes. Box A has dimensions of

6 centimeters, 5 centimeters, and 9 centimeters. Box B
has dimensions of 4 centimeters, 10 centimeters, and
7 centimeters, Which box holds more? Explain.

) 278 ~ Lesson 26 Find Voiume Using Formulas
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Solve the problems.

Which of these rectangular prisms have the same

volume? Circle the letter for all that apply. ~Lookforequal -
cpreducts.

“Length | Width | Height T e e

A 4ft 2 ft 3ft

B 5ft 1ft 3ft

C 6ft 4 ft 1ft

D 2ft 8ft 2ft

E 6 ft 2ft 2ft

he volume of a rectangular prism is 48 cubic meters.

Its height is 2 meters and its length is 3 meters. Whatis |- Thislooks likea "=

its width? two-step problem.
A 6 meters C 16 meters —
B 8 meters D 24 meters

Delia chose A as the correct answer. How did she get
that answer?

Tabia stores her hair bands in a cube-shaped container.
The cube has a volume of 64 cubic inches. What is the
length of the edges of the cube?

Al edges of a cube
“are the same length.

Show your work.

Solution:

©Curriculum Associates, L1C  Copying is not permitted. Lesson 26 Find Volume Using Formulas

N .

s




Solve.

A gift shop sells rectangular glass dishes in different

sizes. Some of the dimensions are given in the table. Use the volume -
Fill in the missing dimensions. Formula and fill in
e, S . the numbers ﬂnaf; i
“Volumein | Length | Width | Height youknot i
_CubicInches | inlnches | inInches | ininches. & e
18 3 2
24 2 3
30 3 2
40 4 2
48 4 3

| How can you make three different rectangular prisms
using 18 one-centimeter cubes? Give the length,
width, and height of each prism.

Jamie wants to use this container to make a block of
ice that has a volume of 600 cubic centimeters. Draw

a line that shows to what height she should fill the
container with water.
Show your work.
&
bt
[4b]
S “10 ¢cm
[
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. refationships among numbers? e

Study the example showing how to label fractions on
a number line. Then solve problems 1 and 2.

Example

The rectangles show equal parts between 0 and 1 and
between 1 and 2 on the number line.

0

A
-<

Y

|
I
0

AU iy K
o —— K
sion - [
By = —
2loo —f— —-- ]

1
i
|
3
4

B = b
BN =

There are 4 equal parts between each pair of whole

numbers. Each part shows %. You can count by fourths on

the number line.

Look at the section between 0 and 1 on the number line.

A

\ 4

o 0 H

1
]
|

1
a. How many equal parts are there?

b. What fraction does each part show?

¢. Label the number line with fractions.

Look at the number line in problem 1. What happens
to the numbers as you move from left to right on the
number line? From right to left?
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Solve.

Use the number lines to solve problems 3-8. A B
®

|

1
Which is at a greater number, point A or point B? 0 1 2 3 4
Explain how you know.

A
4_1
34+

Which is farther from 0, point A or point 87
~ Which is at a lesser number, point C or point D? 2 rYs
Explain how you know.
iy
0

Which is closer to 0, point C or point D?

Explain how a paint’s distance from 0 relates to the
value of the number that it represents.

Describe how the two number lines are alike and
different.
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Study the example problem that shows how to name ordered pairs on

-a coordinate plane. Then solve problems 1-9.

Example

Each point is named with an x-coordinate
and a y-coordinate.

The ordered pair for the origin is (0, 0).

The x-coordinate tells how many units
from the origin the point is on the x-axis. It
is the first number in the ordered pair.

The y-coordinate tells how many units
from the origin the point is on the y-axis. It
is the second number in the ordered pair.

| The ordered pair for point A is (3, 1).

xy)

wh R B

T
origin O

Point B is
unit(s) up from the origin.

The ordered pair for point B is { , ).

PointCis
unit(s) up from the origin.

The ordered pair for point Ciis ( , )

Write the ordered pair for point D. Explain how you
got your answer.

unit(s} to the right of the origin and

unit(s) to the right of the origin and

Find the ordered pair (2, 3) on the coordinate plane.
Mark and label this point “E.”
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Solve.

A B C E F }/
\ B
3 4 5—e
4 4
3
2¢A
1
C

In the table, write the ordered pairs for points A, B,
and C on the coordinate plane above.

Find and label points D, £, and F on the coordinate
plane to represent the ordered pairs in the table.

. Choose a point on the coordinate plane above.
Describe its location compared to the origin.

Point| R T y
e - .
y 4 2 4
3
2
1

01 2 3 45

Find and label points R, S, and T on the coordinate
plane to represent the ordered pairs in the table.

Describe the location of point T compared to point 5
on the coordinate plane.

.y B38  Lesson 28 Understand the Coordinate Plane ©Curriculum Associates, LLC  Copying is not permitied,

5




Study the example. Underline two parts that you think make it
a particularly good answer and a helpful example.

Example

Find the ordered pair (0, 4) on the coordinate plane. Label
the point P. Use point P as a corner, then draw a square.
Label the other corners with letters. List the coordinate
pairs for all corners.

Explain how you solved the problem and how you know
that you drew a square.

Show your work. Use pictures, words, or numbers to
explain.

1‘

5

o

Coordinate pairs:
P(O, 4) Q(3, 4] R(3, 1)} 5(0, 1)

= N W D

5

0 1

G

2 3 45

»X

| started at the origin and moved 4 units up. | labeled
it point PO, 4. Then | drew a vertical segment from
point P 3 units down the y-axis. Then [ drew a
horizontal segment starting at point A Since all sides
of a square are equal, | made this segment 3 units
long. Opposite sides of a sqguare are paraliel. So, 1
drew segmants paraliel to the horizontal and vertical
segments, each 3 units away.

I abeled the points at the corners of the square P, @,
£, and S. Then | found the distance of each point from
the origin and wrote the coordinate pairs. Lknow the
shape is a sguare because it has 4 equal sides and

4 right angles. All of the sides are 3 units lony, and the
angles are formed by the perpendicular lines in the
coordinate plane, and | know perpendicular lines form
right angles.
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Solve the problem. Use what you learned from the example.

Find the ordered pair (1, 3) on the coordinate plane. Label
it point A. Use point A as a corner, then draw a right
triangle. Label the other corners with letters, List the
coordinate pairs for all corners.

Explain how you solved the problem and how you know
that you drew a right triangle.

Show your work. Use models, words, and numbers to o Y
explain your answer. D é you .

labe’ each pmn‘f‘
y = w:ﬂn a ]eﬂ‘er?

o
-~

. connecf po:n‘l’s 'l'o

- -_clraw a 'I‘r;ang]e?

’ Sfe” how you s‘of\led..i Z
- :'l'he prob]em B

- N W = U

o1 2 3 4 S:X ...:‘._expiarnwhy'l'he :;::;__'
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Study the example showing how to name a point on
a coordinate plane. Then solve problems 1-3.

Exampls

What is the ordered pair for point A?

The location of a point is named with an x-coordinate X D

and a y-coordinate. The coordinates are written as an 0 1

ordered pair, (x-coordinate, y-coordinate). 4

Start at the y-axis. Point A is 2 units to the right of 3

- S4B | &C
the origin. A
. . . . - 1

; Start at the x-axis. Point A is 1 unit up from the origin. T N
i .. [l &
% The ordered pair for point A is (2, 1). orign(©,0)~0 1 2 3 4 5 ;

Starting at the y-axis, point B is unit(s) to the

right of the origin.

- Starting at the x-axis, point Bis
the origin.

unit{s) up from

The ordered pair for point B is ( ; ).

Write the ordered pairs.
point C { , }

point D { ,

point D.

| Explain how you found the ordered pair for point C or
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Use the coordinate plane to solve problems 4-6,

A b
5 o2
4
3 GB Oc
2
1TA
X
0

12 3 4 5

Complete the table to show the ordered pairs on the
coordinate plane.

Point! A B C D
.

Ty

Start at (0, 0). Move 3 units right and 0 units up. Label
this point £. Write the ordered pair for E.

E( ‘ )

Find the ordered pair (1, 5} on the coordinate plane
above. Label it point F.

Choose 4 points and draw a rectangle on the
coordinate plane to the right. Label the points with
letters. Write the letters and ordered pairs you used to
draw your rectangle.

%% 5% Lesson 29 Graph Points in the Coordinate Plane
o

= N W RO

01 2 3 45
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Study the example problem showing how to represent and use
relationships between quantities. Then solve problems 1-7.

Example

Holly is playing a crane game at the arcade. With each

crane. Holly wants to know how many tries she will get
using different numbers of quarters.

Show the relationship between quarters and numbers
of tries.

You can use equations.  You can use a table.

quarter, she gets 2 tries to grab a stuffed animal with the

Use the table in the example above. Finish plotting the
ordered pairs from the table in the coordinate plane to
the right.

What is the meaning of the ordered pair (3, 6)?

1 X 2 = 2 tries ber of
2 X 2 = 4tries Numberof | 2 3 4 5
. Quarters
3 X 2 = 6tries Numb f
4 X 2 = 8tries Numberof | 4 6 8 10 | L
. Tries = -
5 X 2 = 10 tries

Describe a path from {1, 2) to (2, 4) and from (2, 4) to
(3, 6). If you continue from paint to point, what do you
notice?

>

Number of Tries
WA MW B U ONO

- &

0 »X
12345678910
Number of Quarters
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Solve.

Holly plays a different game at the arcade. It takes
2 tokens to play the game. She starts with 10 tokens.

Write an equation that can be used to determine
how many tokens she has left after playing the
game each time. Fill in the blanks.

tokens — ( tokens X number of

} = number of tokens left

Use the equation to complete the table.

Number of - -
Games Played
Numberof
Tokens Left

Plot the ordered pairs from the table on the
coordinate plane. Choose a point on the coordinate
plane and tell what it means.

Compare the table and coordinate plane from this
problem with the problem on the previous page.
How are they different?

Tokens Left
SN WEBUIONNONNO

0 >X
12345678910
Games Played

E% % Lesson 29 Graph Points in the Coordinate Plane
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Study the example that shows how to solve a measurement problem with
a shape on a coordinate plane. Then solve problems 1-6.

Example

The owner plans to add a new game room to the arcade. 1
He draws a rectangle on the coordinate plane to represent
the room. What is the area of the rectangle?

From point G to point A, go up 6 units.
From point A to point M, go right 5 units.
Length of GA is 6 units and length of AM is 5 units.

STTTTTE

SN WRUCIONNOONNO

Area of a rectangle = length X width

3 Multiply the lengths of the sides to find the area of the
1 rectangle: 6 X 5 = 30.

Area of rectangle GAME = 30 square units

Rt aCupaninst ;

on]

Write ordered pairs for each point.
G ( : ) Al , ) M| ' ) E( ' )

Find the lengths of MF and FG. Explain how you can
use the coordinates to find the distance between
points M and E and between points Eand G.

What is the perimeter of rectangle GAME? Tell how you found your answer.

%

: ¥
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Use the coordinate plane to solve problems 4 and 5.

y
A
10
9
8
7 oot
AERE D
5
a —of
3
2 &
1 F
0 X
12345678910

Write the coordinates of points A, B, C, D, E, and F.

A{ : ) B( , )
C{ ; ) D( ' )
E( ; ) F( ; )

What is the perimeter of shape ABCDEF?

Show your work.

Solution:

Draw a rectangle with an area of 12 square units in the K

coordinate plane to the right. Tell how you know the 8

area is 12 square units. 7
6
5
4
3
2
1

012 3 456 7 8

318 Lesson 29 Graph Points in the Coordinate Plane ©Curricutum Associates, LLC  Copying is not permitted.
o &




Solve the problems.

Look at rectangle ABCD. Tell whether each statement
is True or False.

N
};.UB_>

= N W B

i

4 5

The coordinates of the vertices of the rectangle
are A(1,0), B4, 0), C{4, 4), and D(1, 4).

The coordinates of the vertices of the rectangle
are A(0, 1), B(0, 4), C(4, 4), and D(4, 1).

c. The area of rectangle ABCD is 16 square units.

The perimeter of rectangle ABCD is 14 units.

) (/ + w) fo 'F!nd ﬂue
perimeter ofa

rec‘!‘ang!e

-

(::) L

D True
D True

I:] True
D True

D False
D False

|:| False
D False

| Plot the foliowing points on the coordinate plane.
K(2, 5)

(o, 2)

M4, 3)

- k3 W P oun

0 1

Whlch is 'qu 'F:rf‘i‘

'3number n an

f'x-coordmafe? The

_ "y-coordma‘f‘e?

~ordered pair? The |
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Solve.

Use the coordinate planetothe ¥

right. Start at (0, 1). Move 2 units 5] +You can move right "
right and 3 units up. Which point , F _.‘C'_ff_’f_a_'_’ up first. - i
shows this location? Circle the 4 E G o &
letter of the correct answer. ) Bl T {e @
A PointD ';TD
B Pointf 01 2 3 4 5%
C PointF
D PointG
Maya chose B as the correct answer. How did Maya
get that answer?
Look at the graph of Kent's savings. Kent starts with $4. /-~ 7 7
Each day he saves the money his dad gives him for | W}"’f pattern do yeuv ..
helping around the house. How much money does L seeon ﬂ”efS"F_'P{I‘f? g
Kent get from his dad each day? Tell how you know. - O "
y :

8‘\ ¢

, ;
T b L
S
mo[—®
W
o 49
=3
=]
Q2

1

rX
01 2 3 45 6 7 8
Number of Days
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